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QUESTION 1

An administrator wants to ensure ease of access to company systems for employees, while preventing unauthorized
access when VMware Horizon Desktop as a Service (DaaS) has been implemented.

Which two VMware Horizon DaasS features will help the administrator meet corporate requirements? (Choose two.)
A. Brokered access to VMware Workspace.

B. Onsite Security Server.

C. Automatic adoption of existing security police.

D. Integrated two-factor authentication capabilities.

Correct Answer: AB

QUESTION 2

A growing company is experiencing scalability issues with delivering virtual desktops to its employees.
The company has these requirements

The solution must allow many virtual desktops to be easily provisioned and delivered.

The solution should allow virtual desktops to be delivered and requested via a Self Service Catalog.
Which VMware product meets these requirements?

A. VMware vCenter Server

B. VMware vReallze Automation

C. VMware Horizon with Blast

D. VMware Mirage

Correct Answer: B

QUESTION 3

An administrator is concerned about reoccurring licensing issues within their; organization Which product or component
will help resolve these issues?

A. View Administrator
B. VMware Workspace Portal
C. Linked Clones

D. VMware Mirage

Latest 1V0-605 Dumps | 1V0-605 VCE Dumps | 1V0-605 Study Guide 2/3


https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html

P 2L d https://lwww.pass2lead.com/1v0-605.html
aSS ea 2024 Latest pass2lead 1V0-605 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: B

QUESTION 4

A manager is planning next year\\'s budget and is concerned that desktop computers cost too much money for the
length of time they are able to be used. The manager wants a solution that is not just simple, but one that will last for
years with little required maintenance.

Which type of business challenge is the manager being faced with?

A. Security

B. Management

C. Accessibility

D. Application

Correct Answer: C

QUESTION 5

A company wants to deploy VMware Workspace Portal in its environment, but is concerned that users will be able use
unauthorized applications. Which mechanism of VMware Workspace Portal prevents this behavior?

A. Authorized user credentials are detected from Active Directory.

B. Unauthorized access to applications is detected and the administrator is notified.

C. User attributes are detected and policies are enforced across applications.

D. Access to applications by default is not allowed. Each user must request access via the interface.

Correct Answer: C

Latest 1V0-605 Dumps 1V0-605 VCE Dumps 1V0-605 Study Guide

Latest 1V0-605 Dumps | 1V0-605 VCE Dumps | 1V0-605 Study Guide 3/3


https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html
http://www.tcpdf.org
https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html
https://www.pass2lead.com/1v0-605.html

